
INSTRUCTION MANUAL

WWW.NEOMOUNTS.COM

NS-M1500WHITE
EN 

NL 

DE 

FR 

IT 

ES 

PT 

DK 

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Floor stand

Vloersteun

Bodenständer

Support au sol

Supporto da pavimento

Soporte de suelo

Suporte de chão

Gulvstander

Gulv stativ

Golvstativ

Lattiateline

Stojak podłogowy

Podlahový stojan

Podlahový stojan

Stativ pentru podea



Lock and install the casters 
Vergrendel en installeer de wielen
Verriegeln und Montieren Sie die Rollen
Verrouillez et installez les roulettes
Bloccare e installa le rotelle 
Bloquea y instalar las ruedas
Trave e instale as rodas
Zablokuj i zainstaluj kółka

PARTS

EN
NL
DE
FR
IT
ES
PT
PL

NS-M1500WHITE

STEP 1

STEP 1

0-50 kg | 
0-110,2 lbs

200x200 - 
600x400 mm

110-143,5 cm

Tool Pencil Drill Tape measureTool Pencil Drill Tape measure

(x2) (x4) (x1) (x1) (x2) (x1)

(x1) (x1) A. M5x30
(x4)

B. M6x30
(x4)

C. M8x30
(x4)

D. M6x12
(x4)

E. Ø16*Ø6*x1,5
(x4)

F. M8x55
(x4)

G. Ø20*Ø8*2,0
(x4)

H. M8
(x4)

I. M6x48
(x4)

J. Ø19*Ø8*x13
(x4)

K. 13mm 
(x1)

L. 5mm 
(x1)

M. 6mm 
(x1)

N.
(x4)



Attach the plate to the bracket
Bevestig de plaat op de steun
Platte an Halterung fixieren
Fixez la plaque sur le support
Collegamento della placa a la staffa 
Colocación de la Placa en el soporte
Colocar a placa no suporte
Montaż płytki do uchwytu

Attach the shelf to the stands 
Bevestig de plank aan de staanders
Befestigen Sie das Regal an den Ständern
Fixez l’étagère au support
Attacca lo scaffale agli stand
Coloque el estante en los soportes
Anexar a prateleira nos suportes
Przymocuj półkę do stojaków

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

STEP 2

STEP 3

STEP 3

M

F

G

H

K

I



Install the adapter brackets 
Bevestig de adapter steunen
Montage der Halterungsschienen
Installation des adaptateurs sur l’écran 
Montare il supporto del adattatore
Instalación de brazos adaptadores
Instalação de braços adaptadores
Zainstaluj ramiona uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

STEP 4

OR

E

J

E

J

A B C D

A B C D



Hang the screen onto the bracket and secure it 
Hang het scherm aan de steun en zet vast
Montage und Sicherung des Bildschirmes an der Halterung
Accrochez l’écran sur le cadre et fixez-le
Appendere lo schermo sulla staffa e fissarlo
Cuelgue la pantalla en el soporte y asegúrela
Pendure a tela no suporte e prenda-a
Zawieś monitor na wsporniku i zabezpiecz go

EN
NL
DE
FR
IT
ES
PT
PL

STEP 5

Make sure the screen and the mount do not touch; do not 
install screens of 60″ or larger at the lowest position.
Zorg ervoor dat het scherm en de steun elkaar niet raken; 
installeer schermen van 60″ of groter niet op de laagste stand. 
Achten Sie darauf, dass sich der Bildschirm und die Halterung 
nicht berühren; installieren Sie Bildschirme von 60″ oder größer 
nicht an der untersten Position.
Assurez-vous que l’écran et le support ne se touchent pas; 
n’installez pas d’écrans ou 60″ ou plus à la position la plus 
basse.
Assicurarsi che lo schermo e il supporto non si tocchino; non 
installare schermi o 60″ o più grandi nella posizione più bassa.
Asegúrese de que la pantalla y el soporte no se toquen; no 
instale pantallas de 60″ o más en la posición más baja.
Verifique se a tela e o suporte não tocam; não instale telas ou 
60″ ou maiores na posição mais baixa.
Upewnij się, że ekran i uchwyt nie dotykają się; nie instaluj 
ekranów lub ekranu 60″ lub większego w najniższej pozycji.

EN

NL

DE

FR

IT

ES

PT

PL

WARNING



Install the plateau to the top of the mount 
Bevestig het plateau aan de bovenzijde van de steun
Befestigen der Platte am oberen Ende der Halterung
Installation du plateau en haut du support à la hauteur désirée 
Attaccare l’altopiano alla parte superiore del supporto
Instale la meseta en la parte Superior del soporte
Instale o platô na parte Superior do suporte
Zainstaluj półkę do kamery u góry stojaka

EN
NL
DE
FR
IT
ES
PT
PL

STEP 6



Attach the Media Box/Thin Client holder on the mount 
Bevestig de Media Box/Thin Client houder aan de beugel
Fixieren des Mediabox/Thin Client-Halters an der Halterung
Fixer le support mediabox/client léger sur le support
Fissare il supporto mediabox/Thin Client sul supporto
Conecte el soporte mediabox/Thin Client en el soporte
Anexe o suporte do mediabox/Thin Client no suporte
Przytwierdź mocowanie do Mediabox/mini PC do uchwytu 

EN
NL
DE
FR
IT
ES
PT
PL

STEP 7



Install the cable clips and run the cable through 
Bevestig de kabelclips en leid de kabel(s) er doorheen
Installieren Sie die Kabelklemmen und führen Sie das 
Kabel durch
Installez les clips sur les pieds pour le passage des 
câbles et positionnez vos câbles dans ces clips 
Fissa la clip del cavo e far passare il cavo attraverso
Instale las abrazaderas y pase el cable
Instale as braçadeiras e passe o cabo
Przymocuj klipsy kablowe i przeprowadź kabel

EN
NL
DE

FR

IT
ES
PT
PL

STEP 8



Adjust the mount to your desired position. Use the screws on 
both sides to tilt 
Stel de steun in op de gewenste positie. Gebruik de schroeven 
aan beide zijden om te kantelen
Positionieren der Halterung in der gewünschten Position.  
Verwenden Sie die Schrauben auf beiden Seiten, um zu kippen
Ajustez le support à la position souhaitée. Utilisez les vis des 
deux côtés pour incliner 
Regolare il supporto nella posizione desiderata. Utilizzare le viti 
su entrambi i lati per inclinare
Ajuste el soporte a la posición deseada. Use los tornillos en 
ambos lados para inclinar
Ajuste o suporte na posição desejada. Use os parafusos dos 
dois lados para inclinar
Dostosuj pozycję uchwytu do twoich wymagań. Przechylaj 
śruby po obu stronach

EN

NL

DE

FR

IT

ES

PT

PL

STEP 9

15
°

15°

Before adjusting the display, make sure the mount is installed 
correctly and screws are properly tightened.

Warning








